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4. Which leadership style empowers team members 4,

the most?

(A) Autocraticz

(B) Transformational
.(C) Laissez-faire

(D) Transactional

cutting costs, they introduced an innovative
subscription model for their products. This

approach is an example of:
(A) Reactive thinking

(B) Convergent thinking

(C) Creative problem-solving
(D) Rational decision-making

6. Consider the following statements about problem-
solving.
(i) Heuristics are systematic, step-by-step

solutions.

(i) Root cause analysis focuses on identifying
underlying issues.

(iii) Problem-solving is purely instinctual.

(iv) Brainstorming is a technique used to
generate solutions.

Wiich statements are correct?

(A) iiand iv only

(B) iand iii only

* (©) i, iii, and iv

(D) i’ ii, and iV
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A company faced declining sales. Instead of 5

6.

T gl &7

(C) TIHD FHT FHTEN
(D) dhETa FHorg-fFmior

AT M & SR 7 FrfoRed seHi ) AR
e

(i) ERET HaRer, Ror-a-eRor e &)

(i) Wwwmﬁ%ﬁ i
W bied &) mﬁaﬁw
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12. Reacting to criticism by acknowledging its 12 zrERmT W& yfefehar &7, 39T der BN WeR

validity and planning change reflects: T 3R g2 &) AT &9 =T &

(A) Self-reflection A) 3ref

" (B) Defensive bias B) TS ga‘rug L

(C) Emotion regulation

(C)  Hracd® faf-am

(D) Constructive coping '
(D) TTAHD TDeT

13. Empathy can be hindered by when indi- .
viduals focus excessively on their own feelings 13. W@ T aftrd & Wl & 19 At g\cﬂ’r @l
rather than understanding others. I O ST D ... R &I died

| X ol
(A) Personal insecurities
(A) AR SRIRETE
(B) Compassion fatigue '
(B) /UM YDA
. (C) Emotional intelligénce A
(C) HIEIHD gfeHe
(D) Cognitive dissonance
. (D) WFHIHD ST

14. Which of the following is not a characteristic of
e 14, FrfiRaes 3 3 3-8 R W o 2
(A) Fluency A) =
(B) Originality ®

. Rigidit
(C) Rigidity ©
(D) Flexibility o
e _R1T_108 (R20/7970m\ 8 SECLENY &
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(5. Life skills education primarily focuses on equip-
ping individuals with to handle
real-life challenges electively.

_‘(A) Problem-specific knowledge
(B) Behavioral abilities

© Academic content

(D) Technological tools

16. The generational gap in communication of-
ten stems from differences in and

technological adaptation.
- (A) Values

(B) Personality traits

(C) Emotional resilience

(D) Physical abilities

7. Ateacher notices a student struggling with math.
Instead of general extra classes, the teacher pro-
vides personalized tutoring. This demonstrates:

. -(A) C()llaborative leammg

B .
B) Reactiye Problem-solving

0) s
©) Tailoreq Problem-solving

(D) Critica) Valuatiop

SEC 5
SS1T-

15.3ﬁaqaﬂmﬁrmgﬁmﬁﬁqﬁﬁﬁicﬁ.‘
Wamzjn%maﬂﬂﬁﬂ

(A) wrer-fafere §

(D) dab-ital 3TDROT

16. ¥R § iR 3R STAER.......- 31‘\‘{ GG
Wﬂ%nﬁﬂaﬁﬁma‘lﬁ%l

(A) Hca
(B) HAfdticd T&I0T

(C) HETHS Heeiieiar

_ a s
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18. %Bﬁéaﬂgqﬁiilﬁﬁmmﬁ$%u"mm}3
BT I Sell &1 T bt SaeRor &

18. A student uses the acronym "ROYGBIV" to re-

member the colors of the rainboW. This is an

example of:

‘ (A) T X AIG HAT
(A) Rote memorization )

(B) Semantic encoding &) iﬂi IS
(C) Mnemonic strategy (©) W gfert or
_ (D) Visualization (D) =T Sy

19. Assertion (A): Suppression of emotions is al- 19+ ¥RV (A): G BT GG B9 ENGRG

ways harmful. 2T
Reason (R): Expressing emotions freely can im- BRI (R): WA @ a9 H T B
prove psychological well-being in every context. & Hed & TG ST B TR el gl
Choose the correct option: el fade q.-‘q
(A) Both Aand R are true, and R explains A (A) AR R T2, 3R R, A & T
(B) Both A and R are true, but R does not &l ‘
explain A _
(B) AR RN el &, ol R, A &I Al
(C) A s true, but R is false el el &l
. (D) Adis false, but R s true (C) A& §, TfbT R o7 & ’
20. The model of communication high— (D) AT &, afbT R = 21
lights the impact of noise on message delivery
and reception. | 20. ........... TUR Hise Hewr faaror 3R mitg ®
| IR & U9 B IR el gl
(A) Transactional .
' A) TH-e 3menRa
(B) Shannon-Weaver ®)
(C) Constructivist ®) R
(C) X

(D) Social exchange

(D) Mot fafe
SEC-51T-106 (520/2200) 10
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21, A teacher designing a life skills workshop 21, iR} 3 fore i DTS BRI RaeT %
for adolescents should focus on which skill .?ITRI Rerd @ TEDH! add o ﬁm‘-‘{ ¥ foo

to address peer pressure?
(A) Stress management :
(A) -9 yeer
Assertivenes
(B) ness B) s
(C) Financial planning (©) s el
(D) Negotiation (D) g
22. Which organization actively promotes life skills - 22. -7 e el # sia Frere e @ Afpd
education in schools? 0 3 ggral ol &7
(A) WTO (A) WTO
.(B) WHO (B) WHO
(C) IMF (C) IMF
(D) ILO 1)
23. The technique involves associating 23, e a'cb—-ﬁas IHORI P Fﬂﬁ ¥ g0 @y
ivid mental images t0 & fore sitdd TR iyl & e A

information with V
ce memory retention. eI

enhan
GG

(A) Chunking (A) CRIE

i (B) T &
(B) MnemoniC

o : () faRd snarg
(C) Distributed practice
(D) TIPS
* (D) Flashcards
SEC-51T-106  (520/2200) 11
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7. Which classification of life skills woyld ;
uld include  27. Sftaw gterer 3 DI T AMTDHRVT H AZa=aheny
skills such as managing cyberbullying or oline SiTTeTTEeT et & Fue St Bierer anfive éi:;

harassment?

(A) Generic L
(B) Problem-specific (B v T
(C) Area-specific © &ﬁﬁf‘hﬁ
(D) Contextual (D) e
28 Assertion (A): Effective e eidbe highly 28 SO (A): ST el Y SFeetferes STeTgYfereiiet
empathetic. ' &1 Trfee|
Reason (R): Empathy alone can resolve all DRV (R): Sat WErHfd I & & & iz Ty
conflicts with in a team. S & &1 W B -
‘ el fawed -

Choose the correct option:

(A) Both A and R are true, and R is the correct (A) Aﬁ?Rﬁ:ﬁ‘\qﬁg 3ﬂTR, b
’ A
explanation of A DI TaT TRT

B) Both A and R are true, but R is not the cor- (B) A 3k R e 8 -
: AD! Ry

rect explanation of A.
(C) Aistrue, but Ris false. : (©) AT 2
T R e
(D) A s false, but R is true. (D) AT @ |
TR W

29. In creative problem-solving, which stage involves :
. ) ; : 29, ITHTHD HHRT
refining and evaluating potential solutions? )

(A) Ideation
(B) Implementation
(©) Converging

©) Diverging

R

SIT1nc  =za02200)
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30. A manager feels stressed about an upcoming 3(). g TGP Uh ST GHIRIHT D o] T
deadline and reframes it as a chance to show- TEGH el & 3K 3 A P eaEm %

case leadership skills. This represents: ST b 07 4 R R &1 T Ry
(A) Reappraisal TR &7

(B) Displacement (A) T""im'm

(C) Rationalization B) fowrm=

(D) Projection . | (C) cheitera

31. Which declaration highlighted the role of fe skills @) &1
education in achieving sustainable development 31, @IH-3 TYgoTaH 3 Tad fabrd dedi DI T B

goals? 3 e herer Rre o1 sifiraT a1 Yifendt foa?
(A) Universal Declaration of Human Rights (A) HHQIEIBRI @ gravifes aroT
(B) Incheon Declaration (B) UM ©gOm
+ (C) Geneva Declaration © f5mar aon
(D) Paris Agreement (D) URE FFar
32. Identifying. i reasoning is a fundamen- 32.T& H......... @ UEAM BRAT S 9
tal aspect of critical thinking. ' & TP AT Ugq &l
(A) Analogies - (A) 3I9HTE
+ (B) Biases (B) gaiUE
(C) Creativity (©) TATHG
(D) Memory patterns (D) Fiﬁ‘f LI
- i claims that "95% of users 33, 0% ' ﬁ
33 zoﬁiﬁiﬁzn;roduct," but fails to provide mﬁ?ﬁqﬂ:—fx& ;;: wmsz

sample size details. What critical thinking Wﬁ"mﬂ:"ﬁﬁ?ﬂl -y mmmm zur-'ﬁﬁ
strategy should be applied? T B ST Trfes

(A) Accepting the claim as true

(A) & g TN o
+(B) Evaluating the evidence for reliability (B) ey & ﬁ“’Wﬁ'an DT Heip
(C) Assuming a logical error | ©) v A 3 7 A |

A

(D) Focusing on emotional appeal ‘— (D) ‘TEHTF@S 7
SEC-51T-106 (520/2200) 14
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. sssertion (A) Decision-making requires a bal-  34. ROy (A): profg-Fmior A 3= 3R adbyol

ynce between intuition and rational analysis

reason (R): Decisions based purely on intuition
qre always irrational,

Choose the correct option:

(A) Both Aand R are true, and R is the correct

(B)

©)
(D)

explanation of A.

Both A and R are true, but R is not the

correct explanation of A.
A 1s true, but R is false.

A is false, but R is true.

. 35. Select the incorrect statement(s) about positive

states:

(A)
-.(B)

©)

5 (D)
\

1

36, Imagine a student struggling with exam SUess. 40 oo 5 £
: U BT Ria 3 aerg 21

Joy broadens cognitive processes.

Hope involves only present-focused

strategies.

Gratitude can build long-term psychological

resilience.

Positive emotions reduce the impact of

chronic stress.

Which life skill would help them most effectively?

(A)
(B)
©)
(D)

A

‘EC.S

Critical thinking
Emotional regulation
Public speaking

Financial planning

1T-106  (520/2200)

Rredior & @ Siger 3w

(B)

©
(D)

()

(B)
©)

(D)

AT 2 afT R e &)
ATEd &, aifdT R 96 7l

35, THRIED 3N & aR A Teld B @ Jed=
R

RITdT STHIHD Higharsil bl 19 &= &
Rl 2l |

DA SUDICTD TSI TET2eTeT By
Hmior a% Hhdr =

HHRTHD W0
B B BT SIS S 3 v

(A) STETEHS W
(B) WA fafemy
(C) WHAHD Higoy
(D) fefta AT
[PTq,
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